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Rusting on iron equipment is mainly due to 

a) Reaction of iron with atmospheric air and 

FTT water 

b) Reaction of iron with toxic chemicals 

b)fafaT TF THTT ATM TR c) Reaction of iron with sunlight 
d) Constant mechanical use of the equipment 

Elcctric current in a conductor is duc to flow. of 

a) Electrons 
b) Protons a) 

b) teta c) Electrons and ions 

c) 34T77 d) Charged particles 

TETT T TAÍ T4 TTVHTA T 3a7 T Water boils at a lower temperature on the hills 

because 

3 

a) It is cold on the hills 

b) There is less carbon dioxide on the hills 

c) There is less oxygen 
d) There is a decrease in air pressure on the hills 

b) TErtT TT TT ITE-3TFATEE ZTAT 

The surge impedance of telephone line is. 

a) 75 Ohms 

b) 600 Ohms 
c) 500 Ohms 

d) 50 Ohms 

a) 75 Ohms 
b) 600 Ohms 

c) 500 Ohms 

d) 50 Ohms 

Iwo capacitors CI and C2 are connected in series, 
there equivalent capacitance will be. 
a) Cl+c2 

b) CIc2/(CI+C2) 
c) (C1+C2yCIc2 
d) None of the above 

1a) C1+C2 

b) C1c2/(C1+c2) 

c)(C1+C2)/C1c2 

Which of the following is not a welding related 
process? 
a) Soldering 
b) Oxy-acetylene cutting 
c) Drilling 
d) Arc cutting 

na) sfT 

C) fftT 
d3Tf�T 

The degree of hotness/ coldness of a body is 
called as a) 
a) Heat 

b) Temperature 
c) Kelvin 

d Radiation 

b) 
c) 
d tatRT 



8 A chisel used for cutting Key ways 1s 

a) F a) Flat chisel 

b) Cape chisel 
c) Round nose chisel 
d) Diamond point chisel 

Which of the following has the lowest viscosity of 

ll ? 
a) T 
b) fe 

a) Naphtha 
b) Kerosene 
c)Diesel 
d) Lube oil 

Lad) `u 
10 faTTTTT TETA ZTT 34 The size of engine cylinder is referred in terms ot 

its 

a) Diameter and bore 

b) Displacement and efficiency 
c) Bore and stroke 

d) Bore and length 
c) 

.1 A Governor is a 

a) Temperature-sensitive devicec 
b) Speed sensitive device 

a) avTTT7 TTETI 

c) Vacuum sensitive device 

d) Pressure sensitive device 

d) zaT aeTata 3U 
12 Ta 9TT tafa à rT aA } azTa T When we change feeble sound to loud sound, we 

, T E ETA 
a) ft 

increase its 
a) Frequency 
b) Amplitude 
c) Velocity 
d) Wave length 

b) 

d) 
ata gi za aT4T TY A AT Which is not a process of separation of a mixture 13 

of a solid and liquid 
a) Sedimentation 
b) Filteration a) T 

b) fheteT c) Evaporation 
d) Fractional Distillation c)TotArUT 

d) THT THA 
Which is false statement about annealing? 
Annealing is done to 
a) Relieve stresses 

4 

oAta aT TT 

b) Harden steel slightly 
c)Improve machining characteristic 
d) Soften material 



Static elcctricity 1s produced by 

a) Chemical reaction 

b) Fnction 
b) 2r4 c)Induction 

c) TrT d) Both Fnction and Induction 

6 Which energy causes least pollution 
a) Solar a) 
b) Thermal 

) c) Nuclear 
c)aha d) Chemical 

d) T4Taft 
17 The phenomena that expla1ns nise of water lev el 

inside a tube dipped in a beaker is cxplained as 

a) Diffusion 
) 

b) Dynami1c Pressure 
c) Capillar1ty 
d) Surface Tension c) 

d) ~ 
18 The speed of the motor can be varied by 

a) Changing supply frecquency 
b) Changing no of poles 
c)Using multi speed windings 

d) All the above 

d) 3A H 
9 The direction of a three phase induction motor can 

be reversed by 

a) Changing the frequency of the crcuit 

b)Interchanging any two supply terminals of 
a) Hfz fmefi qftaA ETT 

induction motor 

c)Chang1ng the phase sequence 
d) Either (b) or (c) 

The alloy. mainly used for corrosion resistance in 
stainless steels is 

0 

a) Silicon 
b) Manganese 
c)Carbon 
d) Chromium 

a) faf 

d ita 
Tar TT T RT` FYA RET TTU TThe property of a material which enables it to 21 

a) fa 
b) eftret

c) tafAE 

d) ef 

retain the deformation permanently, is callcd 

a) Brittleness 
b) Ductility 
c) Malleability 
d) Plasticity 



Which one of the tollowing is an artuticial 

abrasive" 

a) Emery 
b) diamond 

a) 

b)TRT 
c) c) Corundum 

d Silicon carb1de 
d) fafA TafEz 

23 fauffy a7 rtT ETAT Bcarings are used for 

a) Support and hold the shatt in fixed position 

b) Allow the shaft to run freely 
c) Minimize the rubbing action 
d) All the above 

4 Dead weight pressure guage tester is based on the 

principle of 

a) Pascal's Law 
b) Dalton's Law 
c) Newton's Law of Viscosity 
d) Avogadro Hypothesis 

a) ta T 

b)3tat 

c) tsty ftfaet 
ad) aTTET FTEYTafaa 

The leakage flux in a transformer depends upon 
a) The applied voltage 

b) The frequency 
c) The load current 

d) The mutual flux 

a) TST TT 
b) iuh 

d) T 
The flux commonly used in brazing: 
a) Zinc Chloride 

26 

Ga) FATE 
b) HtAH ATRTE3 

b) Ammonium Chloride 
c) Rosin plus alcohol 

Borax c) TiT TH YTET d) 

d) 
The thickness of sheet metal is indicated bya 
series of numbers, which is called as: 

a) Number size 

Gauge 
c) Standard Size 

Fillet 

TAT-E , 
a) qarHTET 

b) 

c)sTET 

d) 
28 TTfAT qof7 * ZoT aTA T T FIT The cavitation in a hydraulic machine is mainly 

due to 

a) low velocity 
b) high velocity 
c)low pressure 
d) high pressure 

a) fA afArEt 

b) fat 
c) TT 

d) 3 zeTE 



29TT ZE TA7 TZ H 4T HIETAT The sequence order ot events in a tour stroke 

cngine is 

a) Suction exhaust- power- compression 

b) suction - power- compression-Cxhaust 
a) H.THTZTT4T-4Y4A 

b) HHA-YTT-A7-THTz C)Suction-compression-power-exhaust 

d) exhaust-compression-power-suction c) T-F77-TT -TATR 
d) He. -F7H-TT -HAH 

30 
Density of water is maximum at 

a) 0 degC 
b) 0 degK 
c) 4 degC 

d) 100 degC 

a) OdegC 
b) 0 degk 

c) 4 degC 

d) 100degCc 
31 5 ftz * 210 Tz faart * srz How many calories of heat will be developed in a 

210 Watt electric bulb in 5 min? 
a) 15000 

a) 15,000 b) 1050 

Cb) 1050 c)63000 
d) 80000 

c) 63000 

d) 80000 
32 The air fuel ratio of the petrol engine is controlled 

by 
a) Carburetor 
b) Governor a) Tter 

c)Injector 
d) Fuel pump 

) 

d) T 
33 A t 7 T Tft a yTa 7TWhich of the following gas has most destructive 

effects on the ozone layer of the Earth? 
a) Chlorofluorocarbon 
b) Nitrogen 
c) Ethylene 
d) Carbon Di-Oxide 

fATTTEt AT TTT&? 
a) FitArAT 

c) T 

d) TË xtHTES 
TT 25 # ara TTT ETAT 
a) 25kN/m* 

b) 245 kN/m? 
c) 2500 kN/m 

d) 2.5 kN/m 
35 T Bt T T ETAT&araT . Mercury does not wet glass. This is due to property 

The pressure of 25m head of water is equal to 

a) 25kN/m 
b) 245 kN/m 
c) 2500 kN/m 
d) 2.5 kN/m 

34 

of liquid known as 

a) Adhesion 
b) Cohesion 
c) Viscosity 
d) Surface tension 

a) 



36 Instrument which measures clectrical enctgy 1s 

) Switch 
b) Watt-hour-meter 

b) aT2-4tar.tzr 
C)Voltmeter 

hc)zttez d) Plug 

37 Admittance is the reciprocal of 

a) settza frrrta a) inductive reactance 

b) capacitive reactance 

b)fafa fr 
c) tr~a 

C)resistance 
d) impedance 

d) t 
Rotational losses in electrical machines consist of 

a) Friction and windage losses 
b) Stator core, friction and windage losses 

c) Rotor core, friction and windage losses 
d) Stray load losses and friction and windage 

losses. 

TTVT fz fga raTRE ATT *f. To measure the clectrie curent of a simple circuit. 39 

an ammeter is connected -
a) In parallel to the battery 

b) In series to the battery 

c) In parallel to the voltmeter 
d) In parallel to the resistor 

c) TFeteT HHTATATr 

d) fT 4TTT 
If Conductance = Siemens, then 

a) Resistance = Ohmn 

b) Capacitance = Henry 

c) Inductance = Farad 

d) Lumen = Steradian 

c) aTtST9= 5UETT 

d) T7= ~uIYT ETT 
Two liquids can be separated by 
a) Fractional Distillation 
b) Crystallization 
c) Evaporation 
d) Filtration 

a) THT fsfRzTva 

d) fter 
42 TF H 2E y T TAN FT 3AT`AT T Which type of mirror is used as rear view mirror in | 

vehicles 

aConcave a) 
b) 

) Convex 
c) Plane 
d) All of the above 



What is the hardest coal amongst the tolowing? 

a) Pit Coal 

a) tz Tuai b) Lignite Coal

C)Bituminous Coal 
d) Anthracite Coal 

b) ATsz HTI 

d) TITE2 ATYAT 
The clectrodes used in spot welding have a tipof 

a) Stainless Steel 

4 

b) Aluminium 
a) R va 

b) uifau4 
c) Copper 
d) Brass 

c) ATT 

d) t 
5 Petroleum products are 

a) Hydroxide compounds 
b) Hydrocarbon compounds 

c)Sullate Compounds 
d) Nitrate Compounds 

a) TTITSS TUYT`E 

b)ETSTTT THYTS 
c) H HYTSE 

d) AT AYTE 
46 When two 22 resistances are in parallel, the 

cffective resistance is 

a) 2 
b) 4 

c) 1 
d) 0.5 2 

a) 2 
b) 4 

c) 1 
d) 0.59 

Which of the following will conduct electricity 
a) Porcelain 
b) Graphite 
c) Rubber 
d) Wood 

a) ifaa 

c) T 

d)F 
EISSfET Tm TT fT TY fT TT Hydrometer is used for measurement of 8 

a) Relative density 
b) Volume 
c) Dissolved water percentage 
d) Presence of water b) HTAT 

c) fat Ara 

d) T 3vtRta 
What does LCD mean in "LCD TV"| 
a) Large Clear Display 
b) Liquid Cristal Display 
c) Long Channel Display 
d) Liquid Clear Display 

9 

a) T T fa 

b) tgrr faz fzr 

d) tt fT fRe 



Capacitor bank across the load is used 

a) HUTT R a) For improving the voltage 
b) For rcduc1ng power tactor 

C) For improving power factor 

d) For quick starting of the motor 

d) H7T ofT T A 

By which effect of electric curent both generator 

and motor are working 
a) Physical 
b) Chemical 

c) Magnetic 
d) Heating 

) 

b) THTA% 

d) ar 
Which of the following has the lowest flash point 

of all? 
a) Diesel 
b) Kerosene 
c) Petrol 
d) Furnace Oil 

? 

a) tt 

b) faa 

) 

IYTT TTT fAT ATY T JTAT & Megeger is a device used to measure: 

a) f ftfre 
b) fAfra 

53 

a) Leakage resistance 
b) Insulation resistance 
c) Line current 

d) Line voltage 

d) 31 
The petrol engine works on- 

a) sirE aTEft 

b) Tfz arsf 

a) Otg cycle 
b) Carnot cycle 
c) Diesel cycle 
d) Rankine cycle 

d) TET 
Fleming's left hand rule is applicable to 
a) DC generator 
b) DC motor 

c) Alternator 
d) Transformer 

b) reft rzr 

d) zia¥r 
In a colour code on a resistance black represen 

Zero 

a) b) Four 

b) TT c) Five 
d) Eight c) 

d) 



T 7 TE aTAI Ff TZ i, Brass gets discolored in ar because of the presence 57 
of which of the following gases in air 

a) Oxygen 
b) Hydrogen Sulphide 
c) Carbon Diox1de 

d) Nitrogen 

ha) fra7 

c) 3TEet=T73 

The specd-time graph of a body is straight 1ne 

parallel to time axis. The body has 

a) Uniform acceleration 
b) Uniform speed 
c) Variable speed 
d) Variable acceleration 

a) qAst HAAa 

b) yAT afts 

d atrA rAH 
Siemens or Mho is the unit of, 

a) Conductance 
b) Admittance 

c) Both a &b 

d) None of the above 

a) 
b)e
 

60 T TqT HTE RE zT If the capacitor of a single phase motor is shorted 

the motor 

a) Will not start 
a) TE TÄ ATI 

b)TETT TETI 
b) Will run 
c) The motor will run in reverse direction 

d) The motor will run in same direction at 

reduced RPM 

61 AATar T aT, tT a T | Aftcr hardening process, the metal becomes 
hardened and also will become more 

Brittle ) 
b) Ductile 
c) Malleable b) 

c)4T d) Tough 

d) H 
62 TGAT4 a. Crude petroleum ou iIs a 

a) Primary 
fuel 

a) TE4 ) Fossil 
b) fa c) Both a and b 

d) Secondary 

TAT 3zi i Aa A MT T TTT| Which of the following metal is used for nuclea
fT TT 

a) A 
b)fr 

53 

energy 
a) Uranium 
b) Thorium 
c) Niobium 
d) All of these

d) 37 HT 



64 H 22 T7H 198 ft tzftA body travels a distance of 198m in a straight line 

in 22 sec. What is the velocity ot the body 

a) 10/ 
b) 9 H/Å 

c) 8 fa/t. 

a) 10 m sec 
b) 9 m sec 

C)8 msec 
d) 6 m sec 

d) 6 / 

tTa TtTeNUT tate ATHT7 TATDye penctrant method is generally used to locate 55 

a) Core detects 

a) T eRT b) Surface defects 

b)H fRARA c) Superficial defects 

d) Temporary delects 

d) zrt f7 
Which of the following operation can be 

performed by a lathe 

a) Tuming 
b) Chamfering 

c) Thread cutting 
d) All of the above 

T T AT ? 

a) zf 

b)t 
c)s f 
d) 3T 

67 fra fT f eTq, TE Brass is an alloy of 

a) Copper and zinc 
b) Copper and tin 
c) Copper, tin and zinc 
d) None of these c)aTE TAT , 

68 3HTY TRga I TITTfA" À À T7 Which of the following welding process uses ne 
consuming clectrodes 
a) TIG 

b) MIG 
c) Manual arc 
d) Submerged arc 

a)TATE 

b)HT 

One Horse power is equal to: 

a) 746Watts 
748 Watts |a) 7464T 

c) 7S6watts 
d) 736 Watts 

b) 748T 

c) 756 T 

d) 736 TE 
Which of the following light source has least lis 

a) Sodium vapour 
b) Mercury vapour 
c)Incandescent 

d) Halogen 
b) TT 

c) 

d f 



dy Hofrt ai i T The device used to convec 
mechanical energy iIS 

a) Generator 
a) b) Electnic motor 

b) ftHtET 
c)stzÄT 

c)Alternator 

d) Translormer 

d zTHTfr 
Wood is the main raw material tor the manutacturec 

a) of- 
a) Paint 

b) TTA 

c)(T) 
b) Paper 
c) Ink 
d) Gun powdcr d) T T3ET 

TTTT : 
a) 105 
b) 10 
c) 10 i 

d) 101 

3 One Joule is equal t0 
a) 10 ergs 
b) 10 ergs 

c)10 ergs 
d) 10 ergs 

Inside a hollow spherical conductor, electriC field 

IS 
a) ) zero 

b) Not equal to zero 
c) Changes with the magnitude of the charge 

given to the conductor. 

d) Changes with the distance from the centre 

of the sphere. 
T7 f TT fA4 greT f 7raTBucholz relay is used for the protection of 

a) Motor 
b) Altemator 
c) Transformer 
d) Transmission lines 

a) HTET 
b) 34TT2TAz 

c) ziarr 

In the Lok Sabha, whom do the members address 
their speeches to ? 

a) Spokesperson 
b) Speaker 
c) Deputy Speaker 
d) Prime Minister 

a) T4 

vb) f 
c) ifT 

d) TT 
The World's smallest country 
a) Canada 
b) Sri Lanka 

c)Maldives 
d) Vatican City 

a)TST 
b) 
c)HTE 



78 TTTT 4 t a? 
Who is the author of Ramayana 

a) it a) Kalidas 

b) Banvatfa b) TuNE 

c)Tttta 
c) Valm1k1 
d) Ved Vyaas 

d) T 
79 fz rA 10 TT 4, Ta 7 In the first 10 overs of a cricket game. the run rate 

was only 32 What should bec the run ralc in the 

remaining 40 overs to reach the target of 282 runs? 

62 25 

32 iu 40 sit à 282 rT T T 

a) 

b) 650 

675 
25 

c) 

b) 6 50 d) 7.0 

c) 6.75 

7.0 

80 fz r ttaTr 7 faa The famous Char Minar is located in 

a) Hyderabad 

b) Kanpur 
c) Delhi 
d) Ahmedabad 

a) 

b) 

c) 

d) E4ETTE 
Which qualification is not essential for election as 

the President of India? 
a) Citizen of India 
b) Not less than 35 years of age 
c) Member of the Lok Sabha 

d) Not holding any office of profit 

a) TTT ATT RTAT 

82 T TET TSAT TTT 7T T A Who has been appointed as India's First Cyber 
Secunty Chief? 
a) Dinesh Bhattacharya 
b) Gulshan Rai 
c) Ramesh Agarwal 
d) Rajesh Gupta 

a) f zeTaT 

c) T uT 

d) TI THT 
83 Y 2x+5 23 -x Solve 2x 5 23 -x 

-18 
a) -18 

6 
b) 6 

b) 
c) 

c) +18 
+18 d) +6 

d) t6 
84 fu Tr TT fU HET "wh" TA. Choose suitable "wh" word for the g1ven sentenc 

animal do you like?" 
a) Which 
b) Why 
c) 
d)When 

animal do you like?" 

a) Which 

b) 

c)Where 
d)When 

Why here 



d colune In MS-Excel. the interscction ol a row and o 

Is called a 

a) Ccll 

b) Label 
******** 

a) 
c) Square 
d) Worksheet 

c) 

d) ftz 
86 T4TT 3T qjtaTA9TAT yfa dturti r 

Which one of the following is the only Indian State 

to have land boundaries with Myanmar and 

Bangladesh? 
a) a) Mizoram 

b) Nagaland 
c) Assam 
d) Tripura 

b) aTA 

c) 

d) fayT 
Which of the following is not a 

Programming Language 

37 

a) 9T 
a) Oracle 

b) TT Java 
c) teda c) Matlab 

d) Pentium d) oz 
88 66 cubic centimetres of silver is drawn into a wire 

mm in diameter. The length of the wire in metres 
will be around: 

66 

b) 
c) 660 

8400 

84 
a) 66 

b) 84 d) 

C)660 

d) 8400 

AAT TH 60 Toi aT 4 fAi * gm fTA certain work can be completed by 60 men in 4 

T TRT 2 fR T 30 Tovi t a 

TH fAq AaRa r kTTI frcompletion of job, calculate total days. 

39 

days. But after 2 days 30 men were shifted to othe 
job. Considering no other change took place till 

days 
b) 6 days 

8 days 
d) 10 days a) 5 f 

b) 6 f 

c)8 
d) 10 f 

Square Root of 4761 is equal to.. 4764 T TA. TT ETT 

a) 46 
b) 59 

a) 46 
b) 59 

c) 69 
d) 72 

d) 72 



91 7 3450 1 40% *T 50% FAT ZTTT? What is 50% of 40% of Rs 3,450 
a) 690 a) 690 

b) 580 b) 580 
c) 670 

c) 670 d) 570 

) 570 
2 RAM T ATI ZT.. The expansion of RANM is 

a) Read Access Memory 
b) Random Access Memory 

c) Random Addition Machine 

a) Read Access Memory 
Random Access Memory 

d) Read Append Mach1ne 
c) Random Addition Machine 

d) Read Append Machine 

Who wrote the original "Panchatantra? 

a) Samudra Gupta 

b) Kalidasa 
c) Vishnu Sharma 

d) Tulsi Das 

a THT 
b) T 

d) T zT7 
94 Between which two destinations did the first train 

nun in India? 

a) Bombay to Thane 

b) Bombay to Dadar 

c)Bombay to Chembur 

d) Bombay to Kurla 

d) T TT 
"ARTIFICIAL" T7 T}r« favta rZ T 

a) Red 

Choose the word which is the exact opposite of the 
word "ARTIFICIAL" 

Red 

95 

a) 
br Natural b) Natural 

c) Truthful 
| d) Solid 

c) Truthfu 
d) Solid 

Which one is a brain of computer? 
a) Kcyboard 
b) a) CPU 
c) Monitor 
d Hard Disk 

C)tf2 
d) TE a 

The Country that's called 'The land of rising Sun' 
Japan 

b) Russia 

97 

ATAT 
) Korea

d) Holland 
b) 
c) iT 

d) zfate 



98 T3HTE T 3 TAT 
a) Foreign Diverse Investment 

"FDI' stands før ---- 

a) Foreign Diverse Investment 
b) Foreign Dealers in India 

c) Foreign Direct Investment 

d Foreign Direct Interest 

b) Foreign Dealers in india 

c) Foreign Direct Investment 

d) Foreign Direct Interest 

99 Y HT X TqY xt T{i, TY TXX is the mother of Y but Y is not the daughter of 
X, then what is the relation of Y with X? 
a) Son in law 
b) Sister a) T4T 
c) Son 

b)TE d) No relation 

c)T 
d) TY T 

Full form of the "APJ" in Dr. Dr. A. P. J. Abdul 
Kalam is a) Ta yfAa HTTTT 
a) AkhilPatitJainulabdeen 
b) Akhil Pati Jalaludin 
c)Akhil Pati Jainulabdeen 
d) AvulPakirJainulabdeen 
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